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UK NEQAS(H) DM scheme 

1. Select up to 5 significant morphological features from a defined list 
2. Place these in priority order 1-5 
3. Answer ƳǳƭǘƛǇƭŜ ŎƘƻƛŎŜ ǉǳŜǎǘƛƻƴ Υ άǿƘŀǘ ǿƻǳƭŘ L Řƻ ƴŜȄǘΚέ 
4. Offer ŦǊŜŜ ǘŜȄǘ ƻǇƛƴƛƻƴ ƎŜƴŜǊŀƭƭȅΥ άǿƘŀǘ ƛǎ ȅƻǳǊ ǇǊŜŦŜǊǊŜŘ ŘƛŀƎƴƻǎƛǎΚέ 
 



But some people get the answers wrong! 

Are we really helping this group sufficiently? 
Do we really know why they get things wrong? 



Analysing morphology is more complex than we think 
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To understand why this is we need to look at the process of diagnosis 



All parasite forms seen, diagnosis: P.vivax 

1. 

2. 



Can we analyse our data to see why we arrive at incorrect answers? 



¢ƘŜ IŜǳǊƛǎǘƛŎ !ǇǇǊƻŀŎƘΥ άCŀǎǘ ŀƴŘ CǊǳƎŀƭέ 

A model to understand how people arrive at a morphological opinion 
 

1. Familiarity/unfamiliarity 
2. Recognition 
3. Classification 
4. Reinforcement 
5. Priority assignment 
6. Interpretation 
7. Action 



We all use these approaches (1) ....... 

Familiarity 
Recognition 
Classification 

Reinforcement 
Priority assignment 
Interpretation 

A simple case 

Action 



We all use these approaches (2) ..... 

Familiarity 
Recognition 
Classification 
Reinforcement 
Prioritisation 1 

Reinforcement 
Prioritisation 2 Interpretation 

Action 

A complex case 



We all use these approaches (2) ..... 

Familiarity 
Recognition 
Classification 
Reinforcement 
Prioritisation 1 

Reinforcement 
Prioritisation 2 

Made the evidence fit my view = Framing effect bias 
Persisted in original view = anchoring bias 
Simplification = multiple alternatives bias 
Stopped looking or thinking = Satisfaction of search (premature closure) 


